Model and sample answers for
Writing tasks

TEST 1, WRITING TASK 1

MODEL ANSWER

This model has been prepared by an examiner as an example of a very good answer. However,
please note that this is just one example out of many possible approaches.
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Model and sample answers for Writing tasks

TEST 1, WRITING TASK 2

MODEL ANSWER

This model has been prepared by an examiner as an example of a very good answer. However,
please note that this is just one example out of many possible approaches.
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Model and sample answers for Writing tasks -

TEST 2, WRITING TASK 1

MODEL ANSWER

This model has been prepared by an examiner as an example of a very good answer. However,
please note that this is just one example out of many possible approaches.
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Model and sample answers for Writing tasks

TEST 2, WRITING TASK 2

SAMPLE ANSWER

This is an answer written by a candidate who achieved a Band 5.5 score. Here is the examiner’s
comment:

The topic introduction has been copied from the task and is deducted from the word count. This
leaves the answer underlength at 236 words, so the candidate loses marks for this.

This answer addresses both questions, but the first is not well covered in terms of how actual
relationships have changed. Nevertheless, there is a clear opinion that the effects have been
positive and relationships have improved, with some relevant ideas to support this. There is

a general progression to the argument, with some effective use of time markers and linkers.
There is also some repetition, however. Paragraphing is not always logical, and ideas are not
always well linked. A range of vocabulary that is relevant to the topic is used, including some
precise and natural expressions. There are quite a lot of mistakes in word form, word choice or
spelling, but these do not usually reduce understanding. A variety of sentence types is used,

but not always accurately. Errors in grammar and punctuation are distracting at times, but only
rarely cause problems for the reader.

Nowsodoys the woy people inkerock wikh each okher has charxeed becouse of
tec\nr\o\o&j.

Yes, the kechnology has changed khe people’s inkerackion in very enhanced manner.

Earlier people use ko waik ond kry ko find easy woy to conkack their friends
or relokives leaving for. In pask there was no quick kechnology ko contack or
ko eskablish any commonication betuseen one person ko onokher person. The
Drowsback wikh pask communicakion syskems was thok Lk were very slow
and were kime tak'ma process such as te\earams. letker ebc. People used ko
ofraid ko wrike bheir personal feedbacks of things ko kheir love ones due ko
insecure medium of communicokion. When ik comes ko professional levely bhe

privacy and accuracy should be mainkain buky ko Ehat kime bhere were no secure
cormunicokLons.

Nows khe khings have changed arounds people from for distonce contack kheir
loves one tn an easy ond quick ways which tmproves the Inkerackion level
bebiseen Euwo person. Qualiby Ehe level of Ehe Interackion bekuseen people ko
people, hos improved because khe people are equipped wikh high-tec kechnology
which enhonces the communicakion. There afe many mony medium which are
available now such os Inkernet, Colling Cards ekc.

"The kechnology has provided bhe mobiliby fosker which help people ko kak or ko
inkerackt ot ony time onyushere in the world.

People can contoack bheir friend or relokives ony ktime l:,heB wont. Ik has become

30 easier and FerLer\d\B ko be in kouch wikh your feriends, relakives even wikh
the unknown people.
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Model and sample answers for Writing tasks

TEST 3, WRITING TASK 1

SAMPLE ANSWER

This is an answer written by a candidate who achieved a Band 6 score. Here is the examiner's
comment:

This answer presents the information in the two diagrams appropriately. The main differences
between the two processes are identified in a clear summary, but other important features
could be described more fully. The organisation of information is the strongest feature of this
script. The description is well organised and there is a smooth progression across the whole
answer that is achieved through good use of linkers and referencing phrases. A range of
relevant vocabulary is used, although this is not wide and there are some less suitable word
choices. There are a few mistakes in spelling, but these do not make the answer difficult

to understand. A mix of sentence forms is used and there are some accurate examples of
complex structures, but the many short, simple sentences tend to limit the range.

The diagrams show the processes and the equipmenty used to-
make cement, and how these are used to-produce concrete for

building purposes.

The first step wvﬂw/cemanttﬁ;odud’m s to- introduce limestone
clay. These materiads pass thwough av crusher that produces

a powder. Thewthiy powder goes into- v mixer. After this, the
product passes to- v rotating heater which works with heat.
Afterwardys; the mixture goes into-av ginder where the cement
comes out. At the end of the process; the cement iy packed in bags.

Referring to-the concret productiow, the process beging withs
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a combinationwof 15% cement, 10% water, 25% and sond 50%
gravel. These fouwr elementy ave introduced into-av concrete mixer.

Ay mentioned above, the concrete production takes fewer stepy
that the cement production; however, it iy necessowy to-use more
materioly than the latter process inv ovder to-obtoin the final
product. ‘

The last difference between both processes iy that the concrete
mixer does not work with-heat.



Model and sample answers for Writing tasks

TEST 3, WRITING TASK 2

MODEL ANSWER

This model has been prepared by an examiner as an example of a very good answer. However,
please note that this is just one example out of many possible approaches.
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Model and sample answers for Writing tasks

TEST 4, WRITING TASK 1

SAMPLE ANSWER

This is an answer written by a candidate who achieved a Band 8 score. Here is the examiner's
comment:

This answer covers all the relevant information in the task, and clearly highlights the main
trends and comparisons. The only thing that would improve this answer is an introduction to the
topic that is not so closely copied from the prompt.

The message is easy tofollow because paragraphing is logical and information is clearly

linked across the whole answer. A wide range of vocabulary is used accurately and effectively,
although there are some rare imprecise choices and some repetitions. Similarly, a wide range
of grammatical structures and sentence forms is used accurately and effectively, with only one
significant error where punctuation is omitted in the final paragraph. Overall, most sentences
are accurate.

The araph sllustrates the quantities of goods Fransported /n the Un/tes
/(/'/7;0/0/»7 by four different modes of fransport between Fhe Fime period of
1974 and 2002. Over #4is span of 28 years, #he quant/ties of goods
Fransported by road, water ahd pipeline fave all increased while #he

quantsty transported by rasl has remained almost constant at zbourt O
million Fornes.

The largest 2144/7/7%)/ of 200ds Fransported both in 1974 end 2002 wes

ﬁ)/ road CFO million Fornes and 98 million Fonres ras,oe.ol‘/lle/y) while Fhe
lowest both in 1 77‘} end 2002 wes éy /0//'05///75 Cebourt 5 million Fonnes
and 22 milljon tonnes respectrely). The amount of goods Fransported by

water was constant from 1974 #o 1978, where [# showed ah exporentsz!
growt Ay rising tfo almost 60 million tornes atter which it plateaued for

zbout 20 years before starting fo rise graduzlly agz/n.

The amount of 20045 Fransporfed by rasl /s almost constant <t YO miltion
tormes in 1974 ans 2002 s WHh decreases /n Zﬂaﬂf‘//y /n between the
years. I# /s also /nferesting fo nofe Fhat almost zll showed = decrezse.
n 1994 in amount of goods Fransported except for the pipeline, whics
4&/‘/44//)/ /Oemée,a/ /n Fhat year.

In conclusion #he rozd remesns Fhe most poputlar metfiod of Fransporting

go0ds /n Fhe UK while water end pipelines are becoming increzsinaly
Usedy Aave not become more popular zs z metfod of Fransport.
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Model and sample answers for Writing tasks

TEST 4, WRITING TASK 2

SAMPLE ANSWER

This is an answer written by a candidate who achieved a Band 6.5 score. Here is the examiner’s
comment:

This script answers both parts of the task and presents a clear opinion on the issues. There
are relevant main ideas, although the supporting examples are sometimes less appropriate.
The answer is organised with some good use of connectives and time-markers giving an
overall progression to the argument. There are also mistakes, however, and some lack of
linking between sentences. Paragraphing is used, but is not always logical, and the concluding
paragraph is confused. The range of vocabulary is the best feature of this script, and includes
some good use of natural expressions and idiomatic language. There is some inappropriate
use of a less formal style at times, but control is generally good. There are few word choices
that are inaccurate, and errors in word form and spelling are only occasional. A variety
of sentence forms is used with accuracy and fluency, but there are a lot of short, simple

~ sentences that reduce the range of complex structures. There are grammatical errors and
omissions, but these are not frequent.

In some countries the average weégﬁﬁ of people (5 (nereasing and thelr levels of
hedth and fitness are c{ecreajdn‘g. T think that the caunse of these pro.b(emj are due
to un/\ed(ﬁ/\% [Cfejﬁgle and the (atk of estercise.

/\/owddz%ﬁ) people are ﬂeﬁfdrg more and more lary. They want Corvierce (n
everything. When they come home firom wiork ﬁ/(e% wll have microwaved dinrer or
Ffast food9 so that thegy do not have to take g\e rouble to prepare a medl or wash
up after dirrer. The introduction of fast food (5 also the main cause of urredthy
ldwjn_g People are opﬁdnﬂ a fast food restanrard meal rather than a simple
hometooked meal. Yes, your burgers and pirzas tasted better than a homecooked
meal but think of dl the calories you are swallowing. The ol they used to fi

your fries. It (s L«.’ﬁem[(? Hack. ,dél.'rt_g too much Fast food will “also lead to health
Problems. Sugar drinks, pcchxcﬁed c/«dp_‘:) candies and chocolate are also some of the
causes that contributes to u.n/\ealﬁ/xg [L'fesﬁ%le. Hamﬁg consumption can lead to we«.ig/xt
ﬂddn and diabeties.

T think that the main cause (s the lack of esercise. As row older, your
metabolism rate drops. Even (f you are eating the same amourt as before, you will
st gain wagﬁﬁ The one and only solution to tAis (s exercise. The recommended
exercise per day (5 at least 30 minutes of brisk walking. This target car be
ed.jd% achieved (f people do not drive to work. They can take a bus or a train and
drip one stop earlier than walk to the office. Every ((tle bt counts. when you
comes home firom work, you can play with your Kid> or bring the dog for a lodlk.
An%é/xdng to _geé your atgfenféon away, from the couch. More exercise will surpress

your cravings for sugary stuffs.

People should also balarce their diet. For esample, by eating more vegetables ard
Fruts. Eat less meat and drink p(ené of water f/\?roug/\ou?f the day. Obfgdndje
time with your famdly to take a walk outdoors to enjoy the scemertes rather than
Cooping yourself (n the house. TACS (5 hedlthy living fgﬂ the body, heart ard the
soul. Tt (s also less ((kely to fall sick (F yon do p(ené? of exercise as your ﬁody
(s jﬁr‘onﬂ enou_g/\ to ﬂ_g/\?off Uness and diseases.
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